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Note : Attempt all questions.

fdor : (3) IV wEE 1 IS T T T T a@ve §—ave (),
@vE (9) T WU (W) | @Us (37) H sgfawedid 9w, WU
(%) ¥ 3faa w=ry sifsy v wve (W) ¥ o w5 gfd
Y Tt T ¥ TAE EOE H 5 W § a9 WAE U W
1 3% aTeifed ®)

Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries | mark.

qy9-1  (@Ug-3r) el famey g faf@a :
(Part-A) Choose and write the correct option :
() TFYA : T TSN G T
FROT : TG 7 1T Y S T 3N I ¢
(37) Fad FYA T R
(@) A i Frw A weEt €
(@) o FRV T &
(3) HuA 3R Hrv i e

[1x5=5]
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(it)

(iii)

@)

[2]
Statement : Forests arc renewable resource.
Reason : Forests regenerate in felled area.
(@) Only the statement is correct
(b) Both statement and rcason are correct
(¢) Only the reason is correct

(d) Both statement and reason are Wrong

FAHia TaA ¥

(3 s (7) I3

(7)) = (3) el
Non-renewable resource is :

(a) water (b) air

(c) forest (d) coal

forra |13 9] N ford wae 1 Sae qad 31 g1 § 2
(30 um (9) =R

(¥) = (9 W

The production of which crop has increased the most over the

last 60 years?

(a) Paddy (b) Jowar

(c) Bajra (d) Wheat

Heurma wrE ¥ wite T R

(37 ¥% () vt wfufq

(%) =Rl (2) ¥R wt

This is not a part of institutional credit :

(@) Bank (b) Cooperative Society
(¢) Trader (@) All of these
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[3]
(v) W ¥ sieta o v o s &
(37 so fe
() 100 fEA
(%) 150 i@
(?) 200 fe

The number of days of cmployment guaranteed under
MGNREGA are:

(@) 50 days
(b) 100 days
(¢) 150 days

(d) 200 days
-1 (Eus-) 3fea e Sife [1x5=5]

(F) (&)

(i) IR - (3 W

(i) TR SrenfiTn v - (%) fee=R

(#if) SR H Y B - (9) FWEEER

(iv) Yo & gFH - () 1917

(v) R - (® Fwn

(Part-B) Match the following :
(A) _ (B)

() Nazism - (@) Japan

(i) Gujarat Industrial Region - (b) Hitler

(iif) Abdication of the Czar - © Ahmedabad

(iv) Indicator of development - (d) 1917

(v) Imperialist - (e) Education

§-3A - P.T.0.
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141
(Tve-u) figa @ @i gfd Fifg
(Part-C) Fill in the blanks :

() — W FIWEN

____is a country of islands.

[1%5=5]

(i) o} = gfe | gt — F A AT
Population-wise, Nigeria is the largest country in __.
(i) T T — amenfia st e )
A political party is an officially ___ organization.
(iv) WRdH — JagH F AHR |

India has ___ right to vote.

(v) | g WY W 9 — ¥ g
UNO was established in _

: () W HEH 2 | 6 99 Afaerg ITA T ¥ vEE T ©
2 37 onfed §1 (ST} s w-wm 30 w2 2)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions

Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

-2 faEw # 9 F 9E iEeE aE-ee @ §0 2
What are the main indices to measure development?

WH-3 WEA R ANER? 2
What is the purpose of credit ?
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WA-4 IR g St S, o g W oswe wn g gga ? 2]
[f Germany had won the war, what would be its cffect on the
world?

wyA-5  dien % 2 I fafau [2]

Write two uses of copper.

WHA-6  Wiags W 9 ;e £ 2 (2]

What do you mean by Cold War?

Fder : (¥) ¥ wEiF 7 ¥ 10 @ sifaeng 90T WA T ) IEE T W
3 afF ITEfed §1 (S| 9 Sifway T=E-dT 50 U= ©)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.

Each question carries 3 marks. (Maximum word-limit of

answer is 50 words)

wo-7 Tt 2w H O w6 € 9w g ? [3]
What will happen in a country if its sex ratio is low?

qua-8  fagaam™ & s e d i GUR H T HE oY [3]
What was the importance of land reform in Vietnam’s Freedom
Movement?

-9 I T AUFR F gl @ fafau | [3]

Write the main benefits of the right to information.

gga-10 WX Ul Rl Fed € 7 aHesy) [3]

What is a muster roll 7 Explain.
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[6]

Fger : () U AP 11 R 14 TF oY IT0T 9E ¥ | Wl WA o S
ﬁm%lmmm4ﬂ$aﬁﬁa%l(maﬁﬁw
T=-Hm 75 v ®)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 73 words)

WeA-11 @@ &1 iy o SR W e gE 98 ? [1+1+1+1=4]
What impact do you think the Versailles Treaty had on Germany?
3rerar/OR
H=yare 1 Sl ¥ e SR e W T I vEa 8 2

How does militarism affect theilife and thinking of people?-

W12 S IR 1 T YN WER F TS WH ISR ? [1+1+1+1=4]

How does tax collection directly affect government spending?
ear/OR

TR 3 for srwie 0 T €2 s F R it e o B ?

Why does the government need a budget? Why are the taxes proposed

in the budget discussed? https.//www.cgboardonline.com

uyA-13  TEon 3™ <TE FEN % AU TR B - SE S 1€
Bt ? [1+1+1+1=4]

What preparations would the government have to make in order to

conduct the first general election?
379qT/OR
qeel A A A F FAEl § FRR R e a2

In what way was the first general election different from the election -
held today?
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P

[7]
" HETA B TR, ST o €1 5 YA ey (4]
“Resources do not exist, they are made.” Explain this statement.
37ydl/OR
HunE &1 FEYA v 8, FIEE

Explain, the management of resources is necessary.

: (3) mmwwmﬂﬁﬁﬂ'ﬂm%lmmﬁmﬁm
forreq & | WE W¥ W 5 3iF et § 1 (IW I SHfeman

E-H 100 T §)

Instruction : (E) Question Nos. 15 and 16 are long answer type questlons

WFT-15

¥ -16

Each question has internal option. Each question carries
5 marks. (Maximum word-limit of answer is 100 words)

e v frord ¥ arfviiss S v fri T @, & 96 @ '
e Y G 9 9= ? (5]

If the Reserve Bank of India did not exercise control over
commercial banks, what impact would it have on the money and

credit system?
3rerar/OR

s vl fafan 5 g & 2w A gedl ® W @ e ok e
V[T 1 STUR €1 gC e 1 e S

Write in your own words, how money becomes a unit for measuring
prices in any country and also becomes a medium of exchange on

which all future payments are based.
1] 79 A FH AR AAE TR F TR fafae (I graE) | [1+1+414141=5]
Write the destruction caused by an atomic bomb (any five).

3ryat/OR

o g A A gL g = fafa (R v |
Write the experience of the public through public hearing (any five).
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Instruction : (F)

: () U HHiH 17 @ 18 A s9hg v § 1 vds A O ol
fawey %1 vlT Wy W 6 oim e & 1 (S Y AfFad

TR-dm 150 =g ¥)

Question Nos. 17 and 18 arc long answer type questions.

Each question has intcrnal option. Each question carries
6 marks. (Maximum word-limit of answer is /50 words)

W-17  weEhiifus aww@ wafter & 2 gy gaes gafusr 91 @, @

UyT-18

1 8m ?

[1+5=6]

What 1s universal adult franchise? What will be if there is no

universal adult franchise?

HeqQr/OR

HaeH | 1 29 € ? YA § WaEH SFaeR S uMifaa SO ael R

=1 qUA FIfC (HE giw) |

What is meant by voting? Describe the factors affecting voting

behaviour in India (any five).

HEE & FEl @ Uit wifae (HE 87) |
Describe the functions of the Parliament (any six).

377G/ OR
TH dfaum F1 S Al ¢ (FE 7)) ?

Why do we need a Constitution (any six) ?

llllllllll
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